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Momentum Data:
t= 0 cart.p= <0.556, 0.08, 0>
t= 1.0 cart.p= <0.156, 0.08, 0>
t= 2.0 cart.p= <-0.244, 0.08, 0>
t= 3.0 cart.p= <-0.644, 0.08, 0>
Lab Questions
1)
Initial Momentum vector:
t= 0 cart.p= <0.556, 0.08, 0>
Final Momentum vector:
t= 0.01 cart.p= <0.552, 0.08, 0>
Delta Momentum = <-0.004,0,0> kg m/s
2)
Final Momentum – Initial Momentum= Delta Momentum
Delta Momentum= Net Force*Delta Time
Net Force= <-.4,0,0>
Delta Time= .01
Net Force* Delta Time= <-0.004,0,0>
3)
My Calculations show that the Net Force*Delta time= Delta Momentum.
4)
The Net Force is only exerted in the x direction, so the momentums in the y and z directions do not change.  This is because there is no acceleration so there is no change in velocity.
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from visual.graph iuport
from visual import ®

scene.y = 400 # move animation window down 400 pixels from top of screen

track = hox(pos=vector (0,-.05,0], size=(1.0, 0.05,

cart = box [pos=vector (-0.5,0,0), size=(0.1, 0.04,
cart.m = 0.80

cart.p = cart.wivector (0.7, 0.1, 0)

deltar = 0.01

s
maraph = gourve (color=cslor . cyan)
carc.tratl = curve (color=color . red)
i ees.

rate (100)

Fnes = vector(-0.4, 0, 0)

carc.p = cart.p + Fnevtasicar

prant meen, ¢, veartopr], care.p

U delear

CArt.pos = cart.pos + (cart.p/cart.m)*deltat

mgraph.plot( pos=(t, cart.p.x) )

carc.cratl. append (posecars  pos)

.10
0.06),

calor=color.green)

it 16Cols 28




